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g mE FErk255E BIEL 18 2A 3A 4R 5H
e BEER] 181,212 96 5 7,770 7,587 14, 699 9, 005 9, 565
i@ - 2z (Fm)| 8,533,116 99. 7% 591, 602 541, 104 957, 611 473,210 501, 786
] 2
g 2,629 967 156 111 189 176 347
A HE(FA) , %
2z Fm)| 185,257 102.1% 12, 468 8, 707 14,714 10, 455 18,119
im e AR (FH) 77,961 99 4% 4, 805 5,038 9, 699 5, 481 5,965
2T — % 23 (Fm)| 3,868,263  98.0% 242,581 196, 608 381, 396 247,575 245, 243
HE 101 94.7 0 0 0 0 1
A #HE(FA) %
S8 (FA) 2,642 115.8% 0 0 0 0 28
im e AR (FH) 69,133 106.5% 2,524 3,157 10, 830 3,453 3,903
i % 28 Fm)| 2,212,436 101.5% 81, 892 68, 661 292, 241 109, 733 101, 852
HE 13,961 101 8" 1 0 0 0 409
SmEE HE(FA) , %
2 Fm)| 470,035 112.7% 3 0 0 13 12, 840
g AR (FH) 64,004  97.6% 3,306 3,825 6,943 4,715 8, 301
Bk 23 (Fm)| 3,008,564 108. 5% 153,523 162, 485 283, 966 242,509 465, 264
HE 341 84.6) 35 48 53 51 64
SEE HE(FA) %
S8 (FA) 18,449 86.1% 2,076 2,399 2,675 2,960 3,501
im e AR (FH) 53,825 94 4% 3,007 3,430 6, 805 5,089 6, 885
2 7L — 28 (Fm)| 2 427,993 105. 2% 124,728 131,583 258, 545 224,347 328, 011
h—Fr—av I 2,109 106. 1% 181 220 378 362 462
TR 2 FR) 95,400  100. 8% 8,116 9,427 17, 461 16, 923 22,239
im e AR (FH) 68,211 95 0% 4,226 4,677 6, 729 6, 166 6,929
5 5 28 (Fm)| 5 007,320 98 4% 313,158 380, 029 537, 687 458, 111 494,364
HE 2,551 95 2 153 161 212 254 311
A #HE(FA) , %
2z Fm)| 184,060 102.0% 12,907 15, 860 21, 551 18, 448 19,730
g AR (FAH) 18,330  99. 3% 1,074 954 1,636 1,973 2,243
2FL =35 2z (Fm)| 1,610,405 101, 4% 94,162 107, 362 181, 371 166, 002 187, 222
HE 1,500 105.1¢ 81 93 134 147 178
A #HE(FA) , %
9 2 Fm)| 142,963 108. 4% 7,836 11,153 16, 696 13,973 16, 322
it e 4,880 101.8 273 237 495 236 288
1t etk #HE(FA) , UAI
S|y smFm| 421,221 89.9% 18, 960 19,194 40, 711 22,893 27, 845
HE 2 12,19 0 0 0 0 0
A #HE(FA) %
S8 (FA) 130 23.4% 0 0 0 0 0
g AR (FH) 5316 94 9% 299 296 617 450 561
S ALY 2 Fm)| 375,793 88.6% 21, 511 21,087 43,933 34,187 37,799
HE 34 286.9 0 0 10 4 2
A HE(FA) %
S8 (FA) 1,606  238. 8% 0 0 519 156 57
im e AR (FH) 20,674 102.5% 1,190 1,161 1,922 1,369 1,699
ANAT Yk 23 (FM)| 4,043,545  99.2% 243,724 247,113 351, 930 334, 248 344,272
HE 28 182.9 3 4 1 3 1
A HE(FA) %
S8 (FM) 3,140 146.5% 423 615 57 112 54
— -
im e AR (FH) 1,062 105.904. 58 52 108 96 101
2o B Y smFm| 107,736 100. 7% 5, 786 5, 508 10, 811 10, 463 10, 221
HE 4 3232 0 0 2 1 0
A #HE(FA) %
S8 (FA) 223 615. T% 0 0 136 32 0
g AR (FAH) 13,630 115. 8% 2,075 2,281 3, 655 583 45
2k b 2 Fm)| 863,321  93.8% 162, 666 125, 107 160, 845 32, 821 2,515
) HE 29 137.09 14 3 2 3 0
A #HE(FA) %
S8 (FA) 1,425 127.9% 686 66 58 193 0
g AR (FAH) 24,973 100. 2% 1,546 1, 600 4, 396 2, 496 2,474
A —F R 2z Fm)| 993,005 99.1% 66, 999 58, 271 181, 484 65, 940 63, 566
a7 —4% HE 0 0. 0? 0 0 0 0 0
A #HE(FA) %
S8 (FA) 0 0.0% 0 0 0 0 0
g AR (FAH) 4141 9o1.3% 29 35 77 160 416
0 2 Fm)| 269,737 103.3% 2,923 2,985 6, 596 14, 462 28,323
R B —F R HE 22 120. 79 0 0 0 0 14
A #HE(FA) %
S8 (FA) 1,125 161. 7% 0 0 0 0 741
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g mE FErk255E BIEL 18 2A 3A 4R 5H
et & (FX) 29,194  98.2% 1,612 1,641 2,295 1,706 2, 654
fLaxsasy 238 (FA)| 4,271,708 105. 4% 232, 942 222,519 296, 548 324, 989 395, 049
8 e | R (FA) 677  91.4% 19 21 48 35 115
T“lemEm] 110,676 100.5% 3,171 3,696 8, 781 8,275 23, 431
Beth HE (FX) 6,622 98.8% 987 1,242 2,040 747 67
Sy—S7m 25 (Fm)| 278,395  91.9% 44,913 50, 220 70, 586 28, 990 2,510
g um e | A (TR 2,865 105.1% 547 597 717 72 0
25 (Fm)| 133,170 93.9% 26, 289 25,973 27,271 2, 606 0
Beth HE (FX) 4,776 97.2% 220 182 329 114 334
X % % 25 (Fm)| 277,396  98.3% 12,159 9,968 17,188 10, 300 20, 148
g 59‘71'51%%@@ HE (FA) 1,806 108. 5% 0 0 0 0 162
TTleEEm 91,325 112. 4% 0 0 0 0 9,034
Beth HE (FX) 203 94.5% 16 30 35 28 37
N B % £% (FA) 7,961  94.7% 608 932 1,046 1,255 1,225
g 5971'51%,&@@ HE (T 50 81. 4% 0 0 0 0 8
e Em 2,453 93.4% 0 0 0 0 440
Beth HE (FX) 1,381  95.5% 148 138 150 123 115
hoh L 7 &3 (FM)| 439,098  87.3% 32,158 23,228 23,743 21,769 29, 646
e | R (FA) 44 63.1% 4 7 7 3 0
£% (FM) 12,717 63.8% 828 1,084 877 489 69
Beth HE (FX) 1,029 97 1% 76 84 111 119 108
ST 25 (Fm)| 493,161 103.3% 41, 440 39, 886 40, 326 39,118 35, 676
| R (FA) 29 76.7% 1 5 5 4 3
£% (FM) 10,750  82. 1% 430 1,577 1,025 632 475
Beth HE (FX) 4,422 97.2% 59 52 121 104 322
EJ! 7 2 4 — &35 (FA)| 228,837 104.7% 3,216 3,016 7,109 7,826 20, 539
it s e | L (T ) 1,016 97.2% 0 0 0 0 6
£% (FM) 47,545 106. 0% 0 0 0 0 406
- HE (FX) 1,407 100.1% 118 168 152 189 317
7y s L &% (FM) 70,691 100. 6% 4,189 5,529 6, 420 12,924 19,918
| R (FA) 5 192, 4% 0 0 0 0 5
£% (FM) 377 128.6% 0 0 0 0 372
Beth HE (FX) 16,208 103. 2% 1,365 1,443 2,114 2,575 2,331
7L RLDO 238 (FA)| 1,232,525 101.8% 110, 550 100, 878 162, 676 165, 248 119, 959
A y, 7 SRR HE (FA&) 695 127.1% 66 72 128 138 105
TUleEEm 33,218  115. 9% 3, 663 3, 496 6, 609 5,269 3,070
Beth HE (FX) 5114 94.2% 390 454 751 734 532
» 5 — &3 (Fm)| 432,561  91.6Y% 31,806 33, 909 51,511 56,518 45, 281
e | R (FA) 62 98 6% 2 5 18 19 5
£% (FA) 3,692 113. 7% 155 303 880 1,007 243
Beth HE (FX) 1,687 100. 9% 22 27 89 328 780
hu =5 &% (FM) 93,168 101. 6% 2,011 2,099 6, 481 23, 444 39, 800
| R (FA) 16 69.8% 0 0 0 3 10
£% (FM) 1,163 79.3% 0 0 0 329 771
- HE (FX) 39,413 100. 3% 2,699 3,126 4, 626 4,534 4,204
5 — R 5 238 (FA)| 1,345 541 102.1% 83, 924 88, 686 191,579 135, 096 140, 533
s | R (FA) 651 114.7% 25 28 60 58 56
£% (FM) 19,150  120. 9% 697 689 2,096 1,436 1,664
Beth HE (FX) 6,759 94 1% 616 870 1,631 951 382
- &35 (FA)| 355584  84.2% 46, 862 50, 931 71,731 46, 677 16, 399
| R (FA) 22 66.3% 1 4 7 4 4
£% (FM) 1,089  64.0% 95 261 328 168 157
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63 0 5 5 5 ; R
N N ] RN 7 B % | Bl B I
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g = TR2SER FIEL 18 25 38 48 58

map BEA) 2,844 97 8% 133 25 132 141 200

CC oo ZEF| 205,247 99.1% 6,833 7 446 6,558 8 298 15,377
o u

| PR TR 27 59.0% 0 0 0 0 0

2 (FM) 989 70.5% 0 0 0 0 0

58 (T4) 8,386 98, 6% 3 0 0 0 2

54

H o s __)miﬁ M amFm 52075 110.8% 76 3 0 27 950

| PR TR 125 68.5% 0 0 0 0 0

TR S (T M) 6,181  86.5% 0 0 0 0 3
= u

men PECA) 1212 79.9% 14 19 17 2 19

S22 % 2 S8 (Fr| 42082 93.8% 373 807 465 679 612
o u

| PR TR 16 81.1% 0 0 0 0 0

2 (FM) 57687 107. 4% 0 0 0 0 0

men PECA) 3.898 102, 2% 2 2 728 2,115

Lo < o< ZEFR| 283230 101.1% 763 425 9964 68.336| 148, 182
o u

| PR TR 147147, 6% 0 0 0 1 146

2 (FM) 9782 128.5% 0 0 0 80 9,703

men PECA) 4,574 104, 6% 189 193 268 349 424

gy Za(Fr)| 583,020 105. 1% 31,369 33,661 43957 50,026 46 275
o u

| PR TR 18 66.7% 0 0 0 0 0

24 (FM) 063 47.2% 0 0 0 0 0

man PEGA| 11,684 062 2,226 3,008 4, 255 688 2

a1y 28 (T 595,980 s2. 1wl 724 864|153 687] 183114 747139 144
o u

| PR TR 388 102, 3% 66 9% 9% 77 0

o] S8 (Fm| 14942 8724 3 476 3973 2990 17787 0
- o = 0

&l s BE TR 9,194 99.4% 470 414 765 1220 1,391

F LT 4 S8 (Fr)| 876,294 101.0% 51,220 51,233 90565 701,517 96, 029
- a1 — I = 0

| PR TR 34 47.5% 2 0 0 1 23

2 (FM) 2100 66.2% 262 49 27 56 17269

men PECA) 4,428 104, 6% 199 252 372 636 745

2 = L = ZE(F| 170,948 107. 6% 8 006 9 478 137991 92763 94,189
£ - - Fh = 0

| PR TR 131 93 2% 9 10 18 29 18

2 (FM) 6050  91.2% 430 475 844 17315 827
= :

men PEEA) 1190 96.9% 0 0 i 663 458

EL x5 A 28 (Fm)| 59,508 99. 7% 0 0 87 34507 97 894
P s 0

| PR TR 45 106, 8% 0 0 0 10 18

2 (FM) 2071 90.1% 0 0 0 716 779

map BEEA] 10,720 101.8% 18 20 o 645 1,404

b oE by 28 (Fr)| 555,933 115.1% 768 991 4,643 36, 457 71,449
o u

| PR TR 353 96 1% 0 0 0 27 139

S8 (Fm)| 5. 684 111.1% 0 0 0 17453 6,601

man PEEA) 1824 106 7% 69 66 68 99 345

S ALE T S8 (Fr)| 89,905 103. 6% 3979 3389 3661 5879 14,560
o u

| PR TR 156 106, 2% 0 9 7 17 18

2 (FM) 9095 106. 4% 14 513 483 17153 933

BE 19013 116.2) 37 20 65 74 105
men PECA) , f'

U7k 2 S8 (Fm)| 64,310 114.0% ) 459 2313 3595 5,082
o u

| PR TR 75 116.3% 0 0 0 0 0

24 (FA) 5620 128.5% 0 0 0 0 0
— u

man BEGA) 1469 94.8% 0 1 7 230 395

12)| P, S8 (FR)| 43379 99.8% 0 44 3349 8715 9,746

e GRS )_ng_r, 5E (TH 112 231 7% 0 0 0 10 %

TR S (T M) 3,134 206. 6% 0 0 0 502 2,532
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g = TR2SER BIEL 18 25 38 48 58

o= 0

150 R (TR 121 96.3% 7 38 39 0 0

7 h o S8 (FR)| 34,250 99, 9% 37502 12418 10,973 503 7
o -

e E (F5) 0.0% 0 0 0 0 0

28 (TH) 48Ty 0 0 3 0 0

BN [ 1623 452 101.0% 17 22 2 20 a1

5L o5 S8 (FR)| 301,025 135, 0% 7198 8 453 8 938 13,756 96, 997
o -

e E (F5) 2 101.0% 0 0 0 0 0

28 (TH) 953 144, 2% 0 5 0 0 6

%R FR 146 90, 6% 16 6 2 0 0

5 TR s R B 50 00 8 7. 797 17435 243 44 61
o -

e E (F5) 10 151.5% 6 1 0 0 0

28 (TH) 17499 118 7% 706 86 58 0 0

%R FR 21 158, 9% 0 0 0 0 0

St e gmiﬁ% 2% (FA) 8687 148, 9% 0 0 0 0 0

° e E (F5) 11422, 2% 0 0 0 0 0

TR S (M) 1737687 0% 0 0 0 0 0

150 | R (TR 601 92.9% 85 136 252 107 2

- ey S8 (Fr)| 110,658 79.5% 93 687 29,431 41,376 13,030 536
c = 0

e | E (T5) 1 58 7% 0 0 0 1 0

28 (TH) 257788, 6% 0 0 0 10 59

BN [ 1623 2.080 91 7% 125 132 150 156 172

s p % S8 (FR)| 378,456 95. 9% 97 821 24,560 27551 78,997 32,656
o -

e | E (FH) 135 120, 6% 9 8 10 9 9

S8 (Fr)| 59,886 104 5% 4. 261 4378 4,469 4,153 4,901
= .
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L % & S8 (Fr)| 80,164 99, 0% 4,289 4,405 8 755 5. 492 4915
o -
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S8 (Fr)| 16,890 96, 8% 7,730 17636 2630 7 7
= L
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= -
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o .
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15,0 | AE CFR) 175 112, 4% 0 0 27 49 49
RF =7 =% (Fm| 267,063 115. 9% 0 246 41,048 73, 456 87, 065
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15,0 | AE CFR) 16 63. 6% 0 0 6 2 3
£ o ¥ < 2% (FM) 21,689 74 9% 3 165 7,949 2,513 4,703
e | R (FH) 0 99 6% 0 0 0 0 0
2% (FM) 1,361 276. 8% 0 0 26 157 772
15,0 | AR (FR) 138 101. 1% 0 0 14 28 38
2T Lk 2% (Fm| 162,670 100. 0% 0 67 19,105 36, 182 49,172
ppm | R (FH) 5 71.5% 0 0 0 0 2
2% (/M) 4553 70. 2% 0 29 214 347 2169
;t) g s AR (FH) 140 91.8% 3 5 7 27 29
e P p—— 2% (M) 18,383 103 0% 294 498 730 5,021 4610
it e | R (FH) 10 52 3% 1 0 0 0 1
= 2145 (/M) 563 57. 9% 21 0 0 46 56
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